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Instructions for Candidates

1.

Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt all questions.

3. Answers méy be written in Hindi or English but the same medium should be
followed throughout the paper.
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SECTION - A
(Wug - )

(a) State whether the following statements are true or false (any five) :  (5)

e arew ¥ 2 st swew | waEe 1 (S dT)

(1) An ‘A’ proposition distributes the predicate but does not distribute the

subject.

A dEaEd ¥ gy 9e ara war § faeg 33 ue s e R

PTO.




258 2

| (i) The middle term is the predicate of the conclusion.

wezw 9 frend @ 3ty B 21
(i) ‘E’ is the subaltern of an ‘O’ proposition.
‘E’ aaharad ‘O’ dehardd & IrE 2 |

(iv) The mood of the syllogism is determined by the types of the standard

form categorical propositions it contains.

Egfea & saed 3@ At PAeaite adae 3 FuilRa a9 21

(v) The middie term must be distributed in at least one premise in a valid

syllogism.

veR Jer g § oW 9T T A FN UE STURAET A A s wifed |

(vi) Two pairs of contradictories are ‘A-O’ and ‘E-I’.
3 ER SR ‘A-O° 3R CE-I ?

(vii) ‘E’ is the subcontrary of T proposition.

‘B’ I waara o Reg 71
(b) Fill in the blanks (any five): (5)
Rerer Tl ot o e (S )
(i) Truth and falsity are attributes of

TG IR I ____ RIW R

(i) If an ‘E’ proposition is true, then the ‘I’ proposition would be

uﬁ‘E’W@%,E?t‘I’W___E‘m:

.o
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(i) The contrary of “All diamond rings are expensive” is
ot R R Sl wieh & o Rl

(iv) The contradictory of “Some sports cars are not dangerous” is

“FHS TheT- AT EoE AR T R S )

X (v) The subcontrary of “Some contact lens are gas permeable” is

‘gD FAdaT dg NW-Wu AT w fawg ____

(vi) Two negative premises in a syllogism leads to the fallacy

i ¥ A e uRAEds ¥ A I i 2

\ (vit) Two universal premises with a particular conclusion produces the
; fallacy — .

A gy MuRar R e g ¥ QW I B 2
(c) Give brief answers to the following questions (any ten) : (20)
v R IR AR (@ of =)
(1) What is Logic ?

T a2 ?

(i) The difference between a proposition and a sentence.
dFar AR T A FR
(ii) The structure of an argument.

g & e o

(iv) The definition of subalternation.

JITHIT R ST |

PTO.
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(v) What does Mood signify in a categorical syllogism ?
g ¥ gEen’ W o R 7
(vi) Why is the conversion of an ‘O’ proposition not valid ?
‘O’ qEaEd A IRTAT w48 A B ?
(vii)) Explain obversion.

faaaT & @R Fifow

(viii) Which propositions have existential import, and which propositions do

not. ? o

fop aharEl o1 aoicAe a2, 3R TR adaredl & e 7
(ix) What is meant by the Figure of the syllogism'?

=g @t Fy &« Jfwa 2 7
(x) Discuss Illicit Minor and Illicit Major.

FfFafa e 9T A Ik el T w© A 9 e i

(xi) Mention two valid syllogisms.

A du gl = R Fike |
(xii) Can a syllogism with both ‘I’ premises be valid ?
w1 v g, SEd 9l sturareg [ ®, du & qwar @ 7

(xii1) The quality and the quantity of a proposition.

qAAEI F g SR T
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(xiv) Identify the rule broken by the syllogism with the form EAO-4.

EAO-4 =mgfem & =11 ¥ fFaw o1 Seeree foman 2, wafia i

(xv) What is the role of the middle term in a syllogism ?

=gfa A Ao ae A w7 v @ 7

2. Write notes on any three of the following : | (15)
FafeRag F ¥ fedl A w Root AR
(1) Existential Import.

SIS C s e
(i)) Distribution of terms
i & et
(if) Traditional Square of Opposition
WRETT faer
(iv) The fallacy of four terms
Ige qAW
(v) AAA is a valid mood only in figure One. Prove it.

‘AAA’ Taw T A A du B 2, g i

3. (a) Arrange the following syllogism into standard form, name its Figure and
Mood. Test it’s validity using the six rules. (any one) )

Frafafas ~rafeaal @ 39 aw JAR A ol 91 IR TR, e Ta
T¢ OF oA o wEn e gy dudr/ Qe w0 qdeer i | (B UE)

PTO.
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(i) Some cobras are not dangerous animals, but all cobras are snakes,
therefore some dangerous animals are not snakes.
HP D GAAF TAR A8 8, fhg o Fw af 2, 5@ 719 e
TR f A8 7 )

(i) No senior citizens are government officials, and all government officials
are persons belonging to the age group of under sixty-five, hence no
senior citizens are persons belonging to the age group of under sixty-
five.

Tl RS ANRE W JHeR &l 2, 3R TN WAl TR 965 a8 (65)
& N T, s B afes ANRE 995 B W T8 2 .

(b) Test the validity/invalidity of the following (any two) :

e ¥ At @ & duar/sduar <1 qleor e :

() AAA-3
(i) EAA-1
(iiiy EAO-2
(iv) AII-2 (4)
SECTION - B
(@S - =)

4. Identify and explain the informal fallacies committed in the following passages.:
(any five) : (10)

ffaftaa g § ¥ fad da 9ol = vewfy 3k = ren €9RA
(1) Do as you are told, otherwise you will have to pay the price.

St T A A @ a5 FA, TE Al B TEE 99w |
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5.

7

(i) People on the death-row are human too, they have families ... there is need
for mercy towards them.

Yeges & Jaia A N A WA B, IR qRaR F . IR i @ ot o 2

(iif) Cooks have been preparing food since generations. Therefore our cook will
be actually successful.

W MW A v IR Q@ @ ¢, 9 TN WA TEIS: FHIA 200 |

(iv) The Senator cannot be maligned. Hence he is so honest that he cannot be
corrupted.

Rt ) TRt &) &1 o T8 a1 FEA 2 | AT 98 3991 $AFER @ R IR we
a8 fhar o W 2

(v) Iam completely confident that their ambassador will be logical on this matter.
After all man is a sensible creature.

™ Rraw 2 fF 59 Qwg 3 39 dogg afdE s SIRRER W T
FAFER WO B |

(vi) It is my turn to throw the ball to day. After all it is my ball.

A NE B 1 G4 AQ 2 1 RIER T8 AQ AT 2 |

(vi)) Since section ‘A’ is a bright section, each of its student must, therefore be
bright.

<% @ A SR 2, TR & U e o er g

Explain and illustrate any two of the following : (10)
frafafaa & ¥ fedl @ = deer o iR

() Argument ad hominem

HAfFaRaE gfer AW

PTO.
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(i) False Cause

frereare AW |

(i) Argument ad populum

AnIeTE AT |

(200)
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